BSOS SN
Sin#E¢ —IMsdub s | o
0GR OP—
KENRRROKRESHE
EERIE S BELH R
BUBREIIHR o0 - TRKRO
o B
SRMEEIHR —~ - IRKRO
— - B (HHE | &)
URRQ S H64°
M BBEEIHVERBEEL
H8 SREUSHA S S
X SEROTEMUOR (&
BMERERNOREEN)
B O BREEIIH KR
ELHRELS1°
MEHEES<LNORE wm
REOEERORL w4
EHEEBREBRY BHD
) KR

oo~ - 1o~ - nosi~

D._w_l_g____ﬁ_ _|00110 - N
- oo | (RRIMRELEL)
MY [ w2 v
ROV~ 5O
MRER R 1E
UOEEY [WXEREEH] ViR
B U 50
PESRRE RUELSSH

Hooro@0—wo <

Y hEBEENLR DR
BRENE
TRELRED S {oh
S QBRI QR
WO S b ST Q)
BRWAQE S O 4tden®
NERE ommm2
[ -Hs+ b HEE R XIRE O )
EAEEE AR
SENE DEERRER
e )
A TR

IYIRDI [A—=™DANELI
KPR+ N —NE—
WE REE<vonRT-
++ENCC=-N\NRE
NIRRT Z 4

HE PRI Y G S
MEEE ~on- RE (R -
Q) <o - §E(~N -
RE)

BRIE SREDBREERE
P BHIRES Q3IR
RS RORDORII 1S
I 5 °

@K RIFH WK UL ERT
BRI
Hoor~@oww©

(H- o - Bm-oiE - 2
B RIRE O 2 464°)
gL~
http://www.oita-jkk.jp

BEINt—=INJ[IBRSIR

RePHEZRVIIKYSIN—]

mir cmXmE
FR-ERSR-

RE HEXEELEYSa—
B ZHe B
HOBEKR |ME HMRKE
K ERERY
@EEHINTHE XD N & —
AN
Hoor~w@owmo
ERINER—P N —
&Y —x
Hoorw@r~nmm

[f—Lm>LLEKSIRIOR(
[ SRR - TR
MEm QO =KL | WIE 5 4rtde°
£ < 2 B <
miy omJmE SR~
W HEXBESYSNa—
e KRmEy=KE
7 Wik QK
mif o»mSOE i
ISEE PN N9
HmiE =K
mir omgmOd
HE~E-FRodr
(KR BmUEY)
IRE P NU NI
HER K<L~"ococoX
buLovocorl (X —%
A —224149)
HERK MECEUMVRE
A BRHToo LW T8 = N
VDN DI U EE DV RE
vt Ok EHHN |
BaEx) KUVCECHEHE
BE S R°

WeE dmnE L~ —
K48 SHA°

FRER ~m2mX B
o -FRoECENIEHE
VRSO (REX)
F-@FNU N0
Hoorww@o—wn

T B0 - @R

i

NO—OYHIE K — M
K& | R<INEWLSHio
K% — DN EHEER X
N e X2 BINN IR
N BE - EEERSUE
IINHQ N i NEE
TR —NVREU DNEE
S50
ANR-NPRDOWVEOS
SRRV AR R4S
B e°
B R T
M~ O-RQENIm AT
HELBRERDEZ DA
$9407 ELEHITE
PBRARR BERKUEELS
S A
B 2R
oot @———1o
AHEREXNUEE
Qoo @a—a—
ORI XSS
Qoo @ooco
AR ERKUEE

oo~ B®m~om—

O X% — D KRR
KRR

Qoo -1 - ovoo

HhiEHERNdN (< ETRER)

PPV ST

FE vRITX-Com
mir HEXED
FRoERKR-0ERKR
WE BEXRBEESYNa—
HEIE K vhRE<EREE
X EL (R XL
0’ oo oLHENE)
FREREE omzmoR

- @EHiHENEY S
AR— R_CAN
Hoor~w@ownmo

A

g3

A Lo

s

i OO & o)
2 = 2

= WNMWme

= AR 2

2 _4mmooﬁ

7 YU i [XO) &

= R~ HN

m

& Tru/\ﬁ =

e & | 88| m

m — N2

= JdJ R E

M sl m

T el

al=

o <

o msm

Oiuya

N

EEmREITREsYE 800978)69-0111

17 mﬂ(k?! 2010.3




